1/0 do/dN

Ratio to ATLAS

=

[EEY

0.5

--O-- Herwig++ 2.7.1 default
--3-- Herwig 7.2.1 default
—— Pythia 8.308 default

900 GeV pp Soft QCD
El I I I | I I I | I I I | I I I :E
- Charged multiplicity(N_>20,p_>0.1 GeV) a
s ]
E
- o ]
= ., 3
- Toe S
- m ATLAS .

mcplots.cern.ch [arXiv:1306.3436]

Rivet 3.1.10, = 2.3M events

¢ Sherpa 2.2.9 default T —
S T T S S —
2 e -
L 0® =2
- ‘ // —]
- ® ]
¢ o° -
B D B
- o® ]

: = - il Er A 1
Rt -""-.:J.:aea u
n . ]

3 N $
- .,‘. EE;\ —H0.5
| 1 1 1 | 1 1 1 | |\\ 1 ’ 1 | 1 1 1 |
20 40 60 80 100
N



	Contents
	Page 1


